Math 3593H Honors Math II
Quiz 2, Thursday March 2, 2017
Instructions: ‘
20 minutes, closed book, no electronic devices,
but an 8.5 x 11 page of notes is OK.

There are two problems, worth a total of 20 points.

1. (8 points) On the surface in R*® which is the graph of
2 =8+ 22422y + 17 +62° —¢°

compute the Gauss curvature at the point <§> .
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2. (12 points; 4 points each part)
For each of the following functions R EN R, say whether f is (Riemann)

integrable or not, and explain your reasoning. Y
. A y=F0<)
(i) f(z) = z®  ifze0,1],
' o otherwise.
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1 ifzel0,1], but z # 3,3, 2

0 otherwise.
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1 ifze]0,1], and z # £ for integers k,m, with m > 1 and 0 < k < 2™,
(i) /(z) = { 0. 2

0  otherwise.
No) vx_oic Kremann M{eﬁ“‘“ﬂuﬁ Sivice ever obja\ah‘c, cube

URA | contmin mts x i £ =0
(l:/e DN > WM also t/fv\o‘buvl ‘z:.M&S e wf‘ﬂa «@(x): 4 5
%
52“79%“> so uN@(l): >, Mccwﬁ)vo\,(cy 1 W¥N
CeDLRY)
w v = \v[N
(9 o= (=e

o b @) o =1 = UE)

N0 N-» 80




